
Front Riggings - Myon Junior Elevating Legrest Hangers
and Calf Pad



Front Riggings - Myon Junior Elevating Legrest Hangers
and Calf Pad

Item
Number Part Number DescriptionNote

Quantity Per
Package Assembly

1450950 Hanger Assembly, Elevating Legrest (12" W) 1 21
Screw (M8 x 35mm) 1 12
Support, Hanger, Elevated Legrest 1 13
Indexer, Hanger, 90 Degree - Myon Junior 1 14
Tube, Upper, Elevating Legrest (12" W) 1 15
Tube, Lower, Elevating Legrest (12" W) 1 16
Screw, CBHC (M8 x 20mm) 1 17
Screw, Ball (7.5 mm) 1 18
Bushing, Armrest 1 19
Nut, Square, Armrest 1 110

1428808 Hanger Assembly, Elevating Leg Rest (13 - 15" W) 1 21
Screw (M8 x 35mm) 1 12
Support, Hanger, Elevated Legrest 1 13
Indexer, Hanger, 90 Degree - Myon Junior 1 14
Tube, Upper, Elevating Legrest (13 - 14" W) 1 15
Tube, Lower, Elevating Legrest (13 - 14" W) 1 16
Screw, CBHC (M8 x 20mm) 1 17
Screw, Ball (7.5 mm) 1 18
Bushing, Armrest 1 19
Nut, Square, Armrest 1 110

1403981 Calf Pad Assembly w/ Hardware (12 - 15" W) 1 112
Calf Pad (15 - 17" W) 1 113
Plate, Attaching, Calf Pad (15 - 17" W) 1 114
Mounting, Calf Pad Back 1 115
Button, Tightening 1 116
Screw, VBA (M3.5 x 15) 1 417
Clamp, Calf Pad Plate 1 218
Pin, Spring (M8 x 50mm) 1 119

 


